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SBI ASSOCIATES CLERK EXAM

HELD ON : 16.01.2011

GENERAL AWARENESS

1. The Government of India does not
provide any direct financial as-
sistance to which of the follow-
ing schemes?

(1) Mahatma Gandhi National Ru-
ral Employment Guarantee
scheme

(2} Rural Health Mission

(3) Indira Aawas Yojana

(4) Jeevan Sathi Yojana

(5) Rajiv Gandhi Grameen
Vidyutikaran Yojana

Which of the following places in

India does not have a Stock Ex-

change?

(1) Kolkata

(2) Ahmedabad

(3) Mumbai

(4) Delhi

(5) Udaipur

AlBA Women's World Boxing

Championship was organised in

Seplember 2010 in

(1) Rome (2) New Delhi

(3) London (4) Vienna

(5) Barbados

Which ‘of the following Interna-

tional sports events was organ-

ised in Dethi in October 2010 in
which several countries partici-
pated?

(1) Asian Games

(2) World Cup Cricket Tourna-
ment

(3} Asian Hockey Tournament
(4} Commonwealth Games
(5) None of these
. Some major banks and financial
institutions in various Weslern
countries were to wind up their
business and/or declare them-
selves in financial problems dur-
ing last few years. This trend is
technically known as

(1) Devaluation

(2) Deformation

{3) Global Slowdown

(4) Political backdrop

{5) Globalisation

Sir Mota Singh who was Knight-

ed by the Queen Elizabeth I1 ear-

lier this year is

L

3.

4

®

10.

11.

. Rohan Bopanna who represent-

. If Indian Banking industry had

(1) first Sikh Judge in United
Kingdom (UK)

(2) first Sikh Minister in United
Kingodm (UK)

(3) first Indian to become Vice
Chancellor in Cambridge

(4) first Indian to become Gover-

" nor of a State in USA
(5) None of these

ed Indian in an international
eventisa

(1} Billiards Player

(2) Golf Player

(3} Chess Player

(4) Table Tennis Player

{5) Lawn Tennis Player

demonstrated its resilience to

external shocks in 2008-09, the

credit goes to

(A) Policies of the RBI & the Gov-
ernment of India

(B)Strength of Indian Business
Houses

(C) Foreign aid/investments to In-
dian companies

(1) Only (A) (2)Only (B)

(3) Only (C)

(4) All (A), (B} and (C)

(5) None of these

What does the letter'S' denote in

‘AFSPA’ an abbreviation we very

often see in newspapers?

{1} Slow {2) Special

(3) State (4) Solid

(5) Sovereign .

Mr. A. K. Antony a Union Minis-

ter in the Indian Cabinet recently

signed an agreement with South

Korea. This means the agreement

is for the Cooperation in the field

of

(1) Agriculture

(2) Rural Development

(3) Defence

{4) Steel and Iron

(5) None of these

Recently the term 3G was very

much in news and even a con-

ference on it was organised in [

India. What is the letter ‘G’ de-

notes in 3G ?
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(2) Glroup
(4} Guild

(1) Grade
(3) Global
(5} Generation
12. What is financial inclusion?
(1) To provide a permanent em-
" ployment to the unemployed
{2} To provide a 100 days job to
all those who are in need of a
job
(3) To provide banking services
to all those living in remote
areas
(4) To ensure that all financial
transactions amounting ¥
5,000 and above are done
through banks,
{5) To provide finances for all

"13. Tembhli village which was in

news is in
(1) Bihar {2} Rajasthan
(3) Orissa (4) West Bengal

(5) Maharashtra )
14. Hillary Clinton who was in India
recently is the U.S. Secretary of
- {1} Commerce (2) State
(3) Treasury  (4) Defence
(5) None of these
15. Exporters in India get insurance
cover and risk cover from which
of the following organisations?
(1) SIDBI (21 NABARD
(3) ECGC (4) RBI
(b} None of these .
16. Which of the following is the
name of a private sector Bank in
- India? .
(1) IDBI Bank]
. [2) Axis Bank
(8) Corporation Bank
(4) UCO Bank
(8) All are Private Banks
17. ‘Ayodhya’ which was in news re-
cently is a place in
{1} Madhya Pradesh
(2) Bihar
(3) Rajasthan
(4) Jharkhand
(5) Uttar Pradesh
18. The judges of the Supreme Court
of India now retire at the age of

(1) 58 years (2) 60 years
(3) 62 years , (4) 65 years
(5) 68 years
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19, Which of the following is the tro-
phy/cup associated with the game
of cricket?

(1) Derby (2) Merdeka Cup
(3) Santosh Trophy

(4) Duleep Trophy

(5) Durand Cup

20. Which of the following is a good

and rich source of vitamin ‘C’ ?

(1) Milk (2) Radish

(3) Mango {4) Lemon Juice

(5) Banana .

Which.of the following books is

written by Kiran Desai?

(1) A house for Mr. Biswas

(2) 3 Mistakes of My Life

(3) A Tale of Two Sisters

(4) The Inheritance of Loss

(5) Tale of Two Cities

22. Which of the following is the
Chemical name of the salt we use
in our kitchen?

(1) Calcium Carbonate

(2) Calcium Chloride

(3} Sodium Carbonate

4) Sodium Chloride

(5) Ammonium Sulphate
23. Who amongst the following was

never a Governor of the RBI?

(1) Bimal Jalan

(2) Y. V. Reddy

{3) Arup Roy Choudhury

{4) C. Rangarajan

(5) D. Subbarao
24. Who amongst the following can

take benefit of the Social Securi-

ty Fund established by the Gov-

emment of India for unorganised

workers?

(1) Primary school teacher

(2) Employee of Sugar Factory -

(3) Textile Mazdoor

(4) Rickshaw Puller

(8) Clerk in-a factory .
28.Jimena Navarrete who was

crowned Miss Universe 2010 is

21.

from

(1) Mexico (2} Venezuela
(3} Brazil (4) New Zealand
(5) Italy

28. India has an agreement with USA
for producing energy in the form
of, .

(1) Hydraulic  (2) Thermal
(3) Nuclear (4) Solar
(5) All of these forms

27. 'Peepli Live’ is a film ditected by
(1) Anusha Rizvi
(2) Aamir Khan
(3) Kiran Rao
(4) David Dhawan
(5) None of these

28. In case a major war breaks out
between two nations, which of the
following organisations/agencies
will be seen in the battle field, in
addition to the armies of the fight-

ing parties?
(1) WTO (2) Red Cross
(3) CARE (4) OPEC

{5) All of these

Who amongst the following is NOT

a famous writer?

(1) Sania Mirza

(2} V. S. Naipaul

(3) Chetan Bhagat

(4) Khushwant Singh

(5) Namita Gokhale

. An individual visiting UAE will
have to make his/her payments
in which of the following curren-

29.

cies?
(1) Dirham (2)Taka
(3) Baht {4) Peso
(5) Dinar

31. Which of the following is a food
crop?
(1) Maize (2} Cotton
(3) Palm (4)Jute

‘ {5} Jatropha

32. Vedanta Alumina is a company
operating in the area of
(1) Shipping  (2) Mining
(3) Cement {4) Textiles
(5) Banking

33. Names of which of the following
rates/ratios cannot be seen in
financial newspapers?
(1) Bank Rate  (2) Repo Rate

(3) Cash Reserve Ratio
(4) Pulse Rate
(5) Statutory Liquidity Ratio
. Which of the following terms is
used in banking and finance?
(1) Abiotic
(2) Demand Deposit
(3) Fat scales (4) A diabetic
(5) Cathode

36. Which of the following is the ab-
breviated name associated with
food security? _

(1) ASHA (2) PDS
(3} wTO {4)OPEC
(5 NPA

36. Which of the following is an eco-
nomic term?

(1) Plaintiff  (2) Bunker Blaster
(3} Deflation (4) Lampoon
(5) Zero Hour

37. Operation New Dawn is the be-
ginning of stability in
(1) Afghanistan (2)Iran
(3) Sudan (4) Sri Lanka
(5) Iraq

38. Which of the following awards is
given to sports persons in india®?
{1) Shantiswarup Bhatnaosar
Awardas
(2) Arjuna Award
(3) Katidas Samman
(4) Saraswati Samman
{5) None of these
Shushil Kumar who won a Gold
Medal at an international cvent
is a famous
(1) Wrestling champion
(2) Golf player
(3) Table Tennis Player
(4) Weight lifter
{5) None of these
. Who amongst the following Indi-
an Prime Ministers was honoured
posthumously by the Govern-
ment of Bangladesh for his/her
contributions to the indepen-
dence of the nation?
(1) Rajiv Gandhi
{2) Jawaharlal Nehru
(3} Indira Gandhi
(4) Lal Bahadur Shastri
(5) None of these

GENERAL ENGLISH

Directions (41-50) : Read the
following passage carefully and an
swer the questions given below it. Cer-
tain words have been printed in bold
to help you locate them while answer-
ing some of the questions.

Once upon a time there lived a
queen in the city of Benaras. Her name
was Khema and she was the wife of
King Bahuputtaka. One night, .the
queen had a dream of a beautiful gold
en goose that spoke with great wisdom.
almost as if he was a sage. She told
her husband that she desperately want-
ed to see a bird just like the one in her
dream. So the king asked his minis-
ters to find out all that they could about
a bird such as this. He was told that
such a bird did exist but was extreme-
ly rare and difficult to find. They ad-
vised him to build a beautiful lake on
the outskirts of Benaras so that he may
attract such rare and lovely crealures
to reside there. In this way the queen
might have her wish.

Towards the north, on Mount
Cittakuta, there lived about ninety thou-
sand wild geese headed by a beautiful
golden goose called king Dhatarattha.
He got to hear of this exquisite lake
surrounded by water lilies and lotuses
floating on the surface. The king had
invited all the birds to come and live
on il, promising that none of them

39.
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WO L o i
<t on oodaly basis in order to at
irnet the Dirds Zo o couple of geese
s-the golden goose
anidd lold him tia s ywere quide tired
of living up on 1the mountains and
would like (o see U 5 wonderiut lake
where they had heen promised food
and protection. The king agreed to their
request and took the Beck down south
towards Benaras. Meanwhile, at the
lake king Bahupuitaka had placed
hunters all around in order to
capture any golden gouse that heap-
pened to pass by. So the next morning
when the headhunter saw this
flock of geese approaching he was very
excited to see their polden leader. He
tmmediately went aboul setting up a
snare amongst the water lilies and lo-
tuses, as he knew that the leader
would definitely be the first to alight.
The whole flock came flying dowr:
in one mighty swoop and as expected
il was the king's foot that touched the
water first. He was ensnared and could
not escape. Seeing this, the other geese
llew into a panic. Bul none had the
courage to trv to free their king and so
flew back to Mount Citiacuta for safety.
All except one. He was the chief cap
tain. Sumukha. King Dhatarattha en-

treated him to fly 1o safetly 100, as he

would-surely be captured if he stayed
by his side. But Sumukha replied that
he would never desert his mastler in
the face of danger and would either
try Lo save him or die by his side.

At this point the hunter ap-
proached and as Sumukha saw him
he decided to appeal Lo his compas-
sion. The hunter asked the golden
gouse how come he had notl noticed
the: trap that was set: The golden goose
replied that when one’s time was up it
was no use to struggle against what

was fated and one must just accept it. |

The hunisman was very impressed
with his gruce and wisdom. He then
turned to Sumukba and asked why he
had not fled with the other birds even
thoigh he was free to do so. Sumukha
answered that the golden goose was
his king, best friend and master and
thal he could never desert him even at
the cost of his own life. Hearing this,
the hunter realised that these were a
coupte of rare birds of greal nobility.
He did not much care for his own king's
reward and decided to do the right thing
and set them frez. He told Sumukha
that as he was ready to die for his King
he would set them hoth frec to fly
wherever they wish.

(n
! 971]
{3
14}

(5)

(941

42.
(1

(2)

+3.
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(2
(3}
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(@)
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@]
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{2)
(3
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(5)
45.

(1)

(2)
(3

~ormed. Comwas seat- | 41 Why were the geese keen on visii-
; ing the lake in Benains?

They were inviled personaily
bv king Bahuputtaka

They were tired of their old
fake.

They were amused by the wa-
ter lilies and lotuses.

The lake was not very farfrom
the mountains

The Jake was to be a source of
good food and protection.

Why did the king approach the
niinisters?

In order (o find out the best
location for the iake

In order to find cut il a golden
goose existed.

To enquire about his wife's

- dreams.
"o devise a plan tu caplure all

rare bird species.
Te enquire about the hbest
hunter in the locaiity.

What advice did the ministers give
to the king?

That no such gelden guose ex-
istedd and he was only wasting
his time searching lor one.

To create an artificial golden

goose {or the queen

To build a lake in order Lo at-
tract the golden goose,

To open a sanctuary of rare
birds for the gueen.

To have a beaultiful garden
surrounded by flowers and
irees.

. Which of the following statements
would best describe the qualities
of Sumukha ?

Betrayer of the flock.

The Selfless Goose,

Loyal towards the king.

The naive and ignorant goosc.
Only (&)

Only (B}

Only (C} and (D)

Oniy (A) and )

Only (B) and (C)

What was the king's intention be-
hind building a lake?

To attract all rare spogies of
living animatls and birds.

To beaulify the city of Benaras, |

He did not want (o go against
the wishes of his wife.

He wanted to capture the
golden goose.

He enjoved bird watohing and
wanted to creale a iatural
habital {or themn.

" #8. Why did the head hunter release

the king thie golden goose?
11 e was impressed by his wis-
clom and nobility.
e geese Were a rare species
of birds.
The golden goose, king
Dhatarattha promised him a
handsome reward
The hunter sympathised with
the golden goose.
The hunter did not want the
chie{ captain to lose a friend.
Why did the flock of geese panic
and retreat to Mount Cittacuta ?
{1} Their king took the wrong
route to the lake and they lost
their way.
Theu king, the golden goose
was captured.
Their chief captain, Sumukha
betrayed the king.
They spotiee inany Liunters by
the lake. ’

{5} Nonc of these

Directions (48 —50) : Choose the |
word witich is most nearly the same in
meaning as Lhe word printed in bold
as used in the passage.
48. Desert

{1} Displease .

{3} Instigate

{5) Abandon
49. Exquisite

(i} Expensive

2)

{3

{4

(5)

47.

(4]

{Z) Encourage
(4} Escort

12) Delicate

(3} Flaborate  {4) Wonderful
(5) Eflicient
50. Snare
(1) Trap {2) Alarm
13) Plan (4) Arrangement

(5} Protection
Directions (51 - 55) : In each of
the following sentences, an idiomatic
expression or a proverbd is highlight-
ed. Select the allernative which best
deseribes its usc in the sentence.
51. The team put their plan into ex-
ecution the very next day.
{1) proposed a plan.
{2} discusscd their plan.
(3) started thinking about a plan
(4} started carrving out their
plan.
(5) None of these
Mrs. Nayak opened the discus-
sion on the "alarming rate ol pov-
erty in [ndia™.
(1} slarted the discussion.
(2} gave her opinion in Lhe dis-
cussion.
(2} did not agree on the discus-
sion.

52,
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(4) welcomed the people to the
discussion,
{3) None of these
53. The course of events made it
necessary for Joseph to start
working.
{1) events that were planned.
“{2) long list of futurc events.
{3) A succession of unexpected
events.,
{4) nature of events that foilowed
alter Joseph joined work.
{5) None of these
Thie new law on "Right to Food
Safely” will come into force next
month.
(1) be 1:)|~(:cd upon the people.
{2} be associated [rom next month
onwards.
(3) be implemented next month.
(4) be withdrawn next month.
{3} bewidely rejected next month.
When the girl wanted to stay out
past midnight, her father put his
foot down.
(1} gave in to her request.
{2) walked away disapprovingly.
(3} cbistrucied her from leaving
the house,

?'-‘

55

4

time.

19) None of these

Directions (56 - 60} : Read mch
senlence to find out whether there is
any grammatical error in it. The error
if any will be in one part of the sen-
tence. the number of that part will be
the answer. !f there is No error, the
answer is (8). i.e. ‘No error. (Ignore
the errors ol punctuation. if any.)

56. Nuclear waste will still being {(1)/.
radicactive even after twenty thou-
sand years. (2)/ so it must be dis-
posed (3)/ of very c‘arefu!ly (4)/
No error (5)

57. My fricnd lived at the top (1)/ of
an old house {2)/ which attic had
been {3)/ converted into'a flat. {4)/
No ercor (5)

58. A public safety advertising {1}/
campaign in Russia (2}/ hope to
draw attention (3)/ of pedestrians
crossing the road. {4)/ No error (5)

59. A cash prize was (1)/ award to the

most {2)/ successful salesman of §

the vear {3}/ by the President of
the comparty. (4)/ No error {5)

60. The Renaissance was (1)/ a time
lo re-awakening (2]/ in both the
atis {3)/ and the scicnces. (4)/ No
error (5) .

requested her to be home on -

Directions (61 - 65) : Each sen- |
ter e helow has a blank/s, esch blank
indicaics that something has bevn
omitted. Choose the word/s that bhest |
fit/s Lthe meaning of the seutence as i
whole.

61. Many leading members of the op-
position party ____ tojustify the
party’s decision.
{1} having tred (2) has tried
(3} have been trying

{4 tries [B) is lrying

62. The state-of-the-art school is

' with a medical chmc and

{itness centre.
(1) establish (2) illustrative
(3} having (4) equipped
(5) compromising

63. The Bhagavad Gita is a part of the
Mahabharata, but it stands _____
and is in itself.

(1) dependent, incomplete

(2} together, justified

{3) separate, dignified

(4) apart, complete

(5) united, connected .
64. The artist’s work of art is worthy___

praise.

(1) for : (2) of
{3} to 4 about
(5} to be

65. The charily ___ most of its mon-

ey through private donaticns.

{1) receives {2) borrows

(3) uses (4) proposes

{5) invests

Directicns {66 - 70) : In each
question below, four words printed in
bold type are given. These are num-
bered (1}, (2}, (3) and {4). One of these
words printed in bold may either be
wrongly spelt or inappropriate in the
context of the sentence. Find out the
word that is inappropriate or wrongly
spelt, if any. The number of that word
is your answer. If all the words print-
ed in bold are correctly spelt and ap-
propriate in the context of the
sentence then mark (3) i.e. ‘All Cor-
rect’ as your answer.

66. The ship (1)/ was at sea for many
days and finally {2)/ anchored
(3)/ near the costline. (4)/All
Correct (5)

67. Employees must familiarise.(1)/
themselves with the health {2}/
and safety (3)/ mannual of the
organisation. (4)/ All Correct (5}

68. The political (1}/ environment
{2)/is not condusive {3)/ tc ¢co-
nomic reforms. (4)/ All Correct
(5

59. The report (1),
saefty (2}« :
very poorly o atatntaines
{41/ AL Correr ¢ 02

70, Some of oy tintesors (1 b
complato: o 20 o vl e
programni. | i/ schadmde (1::
All Correat (B}

Directions (71 - 73) : Reauaros
the [ollowing six sentenees/ sronis of
senitences (A (B (C) D (928 and B
in the proper searenoe to lorm o mean
ingful pavagraph: then answer the
guuestions given helow them.

{4) The merchant greedily counied
his gold and said, "The purse !
dropped had 200 p
init. Youve already - t
than the reward! Cw iy o
will tell the police.”

{B) The judge, lovking tow: lld i
mercharnd said, “vou stated it
the purse vou lést containd 200
pieces of gotd. Well. that's aeon
siderable cost. Bul, the parsce
this beggar found hard oniv 100
pieces of gold”.

(C) Being an honest nta. the hog-
gar came forward and handed
the purse to the merchome say
ing. "Here iz ynur purse May b

. have my reward nesw?”

{D)  This purse therclore cimnot b
the one you lost.” And with thm
the judge gave the purse o all
the gold 1o the beggar.

(L} A beggar found a leather nor
that someone hadd drop e i
the marketplace. Qroopentig i
e discovered that it ¢ r.m el
100 pieces of gold. Then he
heard a merchant ~>hn~:-<
“A reward! A roeward Lo the one
who finds my leather purse’

{I) "I am an honest man.” said iy
heggar defiantly. "Lel us b
this multer 1o the covrt, Ty

* judge patiently listened 1o bl
sides of the story,

71. Which of the following =il e
the FIRST sontenee e the ve
arrangement ?

{5) E 21 B

{3l D (1 C

B F

72. Which ol the loltowing =hontd be
the FOURTH sentence slier e
rearrangement?

' 121
5 0k eni
S N

{11 D &
(3) 1B CU
B C :

73. Which of the followinng shwods e
the FIFTH sontence abierihe =
arrangement”?
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(nE 2) D
(3} B 4 C
5y F

74. Which of the following should be
Lthe SIXTH (LAST) sentence af-

ter the rearrangement?

(1 A (2) D
@3 F 4 E
5 C

76. ‘Which of the following should be
the SECOND sentence after the

rearrangerneni ?

(1 A 2) D
-3 F 4 B
B C

Directions (76 -~ 80) : In the fol-
lowing passage, there are blanks, each
of which has been numbered. These
numbers are printed below the pas-
sage and against each, five words are
suggested. one of which fits the blank
appropriately. Find out the appropri-
ate word in each case.

The Bhagavad Gita is a poem of
700 verses which is a part of the
Mahabharata. It is the only philosophi-
cal song existing in all languages. Its
popularity and influence have never
waned. It (76) light and guidance to
the troubled mind in times of crisis. It
is in the {(77) of a dialogue between
Arjuna and Krishna on the battlefield.
Arjuna’s mind is troubled at the thought
of the killings of his friends and rela-
tives. He cannot conceive of any gain.
Arjuna is the (78) of the tortured spirit
of man torn by conflicting obligations
and moralities.

The dialogue proceeds and takes
upto the higher level of individual duty
and social behaviour, application of eth-

ics to practical life and social outlook:

that should govern all. An attempt is
(79) to reconcile the three paths of
human advancement - the path of
knowledge, the path of action and the
path of faith. But more (80) is laid on
faith. There is a call of action to meet
the obligations of life, keeping in view
the spiritual background and the large
purpose of the universe.

76. (1) provides (2} shines
(3) enforces (4) secures
(5) seeks

77. (1) programme {2} constitution
(3) part {4) formation
(5) form

78. (1) conceived (2] dream
{3} source (4 figures
(5) symbol

79. (1} generated (2) made
{3} established (4) ccined
(5) given

80. (1) important ({2) significant

{3) declaration {4) emphasis
(5) blessings

QUANTITATIVE APTITUDE

Directions (81 - 90) : What
should come in place of the question
mark (?} in the following questions ?

81 _g,_ .§4. i-’) :
10 11 15
217 221
It ok e
M 330 @ 330
" 211 1197
) *336 4) 1335
(5) None of these
82. 342875 -7 =21
{1) 18 2 13
(3) 15 4) 11
(5} None of these
g3, 3732, 45
* 67 171 128
. 15 AE
() 262 2 268
3 15 " 17
( )266 4 268

(5) None of these

1 1 3
—th — = th =
84.4 of2nd0f4t 0f52Q00 ?
(1) 4875 (2) 4857
(3) 4785 (4) 4877

(5) None of these
88. (7921 +~ 178) -5.5 = JT
(1) 1512 (2} 1521
[3) 1251 {4} 1531
(5) None of these
38% of 4500 - 25% of ? = 1640
(1) 260 @ 270
{3) 280 4) 290
{5) None of these

(5863 = J2704) x05="7

(1} 2955.5 (2) 2905.5
{3} 2590.5 (4) 2909.5
(5] None of these

(72 + 152 - 332 = 97

(1) 33 (2) 32

4 34 (5) 30

{5) None of these

25639 - 5252 - 3232 = ?
(1) 17255 (2) 17551

(3) 17515 (4) 17155

(5) None of these

283 x 56 + 262 =20 x ?

(1) 805 "~ {2} 803

(3) 807 (4) 809

(5) None of these

g

87.

89.

Directions (91-95) : What
shouid come in place of the question
mark (?} in the following number series
]

91. 353 354 35] 356 349 ?

(1} 348 {2) 358
(3) 338 (4] 385
(5) 340
92, 15 13 29 ? 125 253
(1) 83 (2) 69
(3) 61 (4) 65
(5) 81
93. 45 57 81 117 165 ?
{1) 235 2} 215
(3) 205 4) 245
(5) 225
. 94. 17 18 26 53 117 ? 458
(1) 342 (2) 142 .
(3) 267 (4) 262
{d} 242
1 1 3 1 1 3
R 2 41“12 14°
(12 2} 4
1 1
36 (4) 5
2
(5) 13
98. Mr. Khanna took a loan of

¥ 10,000 on simple interest for
two years at the rate of 3 p.c.p.a.
The total amount that he will be
paying as interest in 2 years is
3% of his monthly salarly. What
is his monthly salary ?
{1} ¥ 30.000 (2) ¥ 16.000
320,000 (4% 12,000 -
(5) None of these
28% members of a certain group
are married. What is the respec-
tive ratio between the number of
married members to the number
of unmarried members ?
(M7:17
(2) 5: 18
(3)7:18
{4) Cannot be determined
(5) None of these
. The average of five numbers is
49. The average of the first and
the second numbers is 48 and
the average of the fourth and fitth
numbers is 28. What is the third
number ?
(1) 92
(2) 91
(3) 95
(4) Cannot be determined
{5) None of these
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99. In how many different ways can 9 110. Whal is the value of (x in the fol-

the letters of the word "'SECOND formed is 10" What is the origi- lowing equation ?
be arranged ? nilfisintion s 0.7
(1) 720 (2) 120 e L —_—._
(3) 5040 (4) 270 3 1 36 (x)°
(5) None of these Ly @ 7 &l

100. If the numerator of a certain frac- h . (17 (1 19
tion is increased by 200% and 3) 3 @) = (3) 16 (4} 14
the denominator is increased by 5 5 (5) None of these

0, i ; .

150% the new fraction thus (5} None of these Directions (111-115) : What

approximate value should come in
place of the question mark (?) in the
following questions ? (Note : You are not
expected to calculate the exact value).
111..105.003 + 307.993+215.630 =?

" Directions (101-105) : Study the follewing table carefully and answer the
questions that follow :
Number of employees from six different banks located in different cities
M = Males, F = Females

City | Agra | Delmi Mumbai| Chennai| Patna | Kolkata } :1,3 gég {ii g?g
Bank 112. 5223 = 36 x 0.93 = ?
A 5532241254 |456 (457|388 114|378 (234] 120|353 [ 325 {1) 135 (2) 125
B 673|116 346 | 256|346 456 | 124 1235|241 | 156 (348|174 (3) 145 (4) 165
C 4431500] 366|345 | 124 | 456 1235 | 388 [ 350| 234 | 399 [ 439 5) 115
D 5341454478 (285(|235(235(|255|175|124| 165|358 | 234 113. 635 x 455 = 403 =?
E 256 235|256 166(574| 5991324 | 198124 334 | 125 {235 (1) 735 (@) 795 -
F 556|357 346|287 | 589| 190|189 (256 | 165 181|278 | 192 (3) 695 (4) 685
101. What is the ratio of the number | 106. The area of a triangle is half the A
of males to the number of females area of a square. The perimeter | 114. 2228 =?
respectively in Patna from Bank of the square is 224 cms. What (1) 57 (2) 47
A, Bank C and Bank E together ? is the area of the triangle ? 367 (4) 37
(1) 175: 173 (2) 177 : 173 (1) 1856 cm?® {2) 1658 cm? (5) 27
(3) 177 : 172  (4) 175 : 172 (3) 1558 cm? (4} 1586 cm?
(5) None of these {5) None of these 115. 35332 =7
102. What is the ratio of the number | 107. How much will be the compound (18 (2) 38
of males to the number of females interest to be paid on a principal (3) 58 (4)68 -
respectively in Bank D from all amount of ¥ 85,000 after 3 years (5) 18

the cities together ?
(1) 496: 387 (2) 487 : 356
(3) 422: 385 (4) 486: 397
(5) None of these
103. The number of females in all the

at the rate of 6 p.c.p.a. ?

(1) T 16623.36 (2) T16236.36
(3) ¥ 16326.36 (4) T 16632.36
(5) None of these

Yesterday Priti typed an essay of

Directions (116-120) : Study the
following graph carefully and answer
the questions that follow :

Percentage of employees in differ-
- ent departments of a company

108.

banks together in Delhi are ap-
proximately what per cent of the

number of males from all the |-

banks together in the same city ?

(1) 88 (2) 98
(3178 (4) 68
(5) 58

104. The number of females in Bank

. B from Agra is what per‘cent of
the females in Bank C from the

same city ?
(1) 33.2 (2) 23.2
(3) 13.2 (4) 28.2

{5) None of these

105. What is the approximate aver-

age of the number of males work-
ing in all the banks together in
Kolkata ?

(1} 350 (2) 310
(3) 340 (4) 380
(5) 360

| 100.

5000 words at the speed of 60
words per minute. Today she
typed the same essay faster and
her speed was 15% more than
yesterday. What is the approxi-

mate difference in the time she }

took Lo type yesterday and the
time she took to type today ?

(1) 20 minutes (2) 30 minutes
(3) 10 minutes (4) 40 minutes
(5} 1 hour

The average speed of a train is 3
times the average speed of a car.
The car covers a distance of 520
kms in 8 hours. How much dis-
tance will the train cover in 13
hours ?

(112553 k. (2) 2585 km

(3} 2355 km (4) 2535 km

(5) None of these

Total No. of employees = 4500
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Percentage of females in each
department in the same company
Total No. of females in the

organisation = 2000

1186.

117.

118.

118.

120.

Q Customer
(Q‘ 1 Relatien
20%

What is the total number of males
from Design, Customer Relation
and HR departments together ?
(1) 1550 (2) 1510

(3} 1540 (4) 1580 -

(5) None of these

What is the ratio of number of
males in HR department to the
number of males in Accounts
department respectively ?
(1)3:17 (2)4:15
32:15 (4)2:13

{5) None of these

The number of females in the
Marketing department are ap-
proximately what per cent of the
total employees in Marketing and
Customer Relation Departmems
together ?
(1) 26

3} 6

(5 16
What is the respective ratio of
number of empleyees in Admin-
istrative departrient to the num-
ber of males in the same depart-
ment ?

(1) 9:4 (2) 8:3

(3) 7:2 {4)8:5

(5) None of these '

The total number of females are
what per cent of the total num-
ber of males in the organisation ?
(1) 90 (2} 70

(3} 80 (4) 60

{5) None of these

2) 36
(1) 46

REASONING ABILITY |

121.

122,

123.

124,

125.

128.

il is possible to make only one
meaningful word with the first,
fourth, fifth and tenth letters of
the word TELEVISION, which of
the following would be the sec-
ond letter of that word from the
right end? If no such word can
be made, give ‘X as your answer
and if more than one such word
can be formed, give your answer
as Y.

(nx (2) L
(3 N @ E
B Y '

In a certain code TRUMP is writ -
ten SUTQN. How is FIRED writ-
ien in that code?

(1) GUQEF  (2) JGEQF
(3) JQGEF  (4) JGQFE
(5} JGQEF

If each of the vowels in the word
GOLIATHS is changed 1o the
next letter in the English alpha-
betical series and each consonant
is changed to the previous letter
in the English alphabetical se-
ries, and then the alphabeis so
formed are arranged in alphabet-
ical order from left to right, which
of the following will be sixth from
the left of the new arrangement
thus formed?

(15 @ p
B G (4) J
{5) F

In a cerlain language ‘WEAK' is
coded as ‘439, ‘REST is coded
as ‘788# and ‘WREK' is
coded as ‘4$87'. How will ‘KE-
WRA' be coded in the same code?
(748p# Ap788#
B#pO274 ASP794
BI1478pS

How many such pairs of 1etters
are there in the word FORMA-
TION each of which has as many
letters between them in the word
(in both forward and backward
directions} as they have between
them in the English alphabetical
order?

(1) None (2) One

{3) Two (4) Three

(5) More than three

‘Music' is related to ‘Notes’ in the
same way as ‘'Language’ is relat-
edto — .
(1) Sentences (2) Combination
{*) Grammar (4) Alphabets

5) Syntax

i27.

128.

129.

130

How many meaningful English
words can be formed with the
letiers ADIC using each letter
only once in each word?

(1} None {2} One

(3} Two (4) Three

(5) More than three

If the digits in the number
79246358 are arranged in de-
scending order from left to right,
what will be the difference be-
tween the digits which are third
from the right and second from
the left in the new arrangement?

(1) 1 (2) 2
(33 {4 4
(5) 5

Four of the fallowing five are
alike in a certain way and so form
a group, which is the one that
does not belong to that group?

(1) Violin (2) Harp
(3) Guitar  (4) Flute
{5) Sitar

In a certain language 'give me
more’ is coded as '7 3 5', ‘she
has more’ is coded as '9 7 |’ and
'she asked me gently’ is coded
as ‘63 2 1'. Which of the follow-
ing is the code for ‘give’ in that

language?

(15 27
3) 6 49
{5) 1

Directions (131 ~ 135) : Read

the following information carefully and
answer the questions which follow:
If'P % Q means ‘P is the mother of .
If ‘P x Q" means ‘P is the father of Q'
Il'P + Q" means ‘P is the sister of Q'.

If P~

Q" means ‘P is the brother of Q.

H'P > Q' means ‘P is the son of Q'.
If*P <« @' means P is the daughter of .

131.

132.

133.

In the expression'AxB+R>§'
how is S rélated to A ?

(1) Daughter-in-law

(2) Daughter

(3) Wife

(4) Sister

(5) Cannot be determined

In the expression P+ Q > A~ B’
how is Prelated to B ?

(1) Daughter (2} Son

(3) Niece (4) Nephew

(5) Cannot be determined

In the expressionW> X <Y % Z'
how is W related to Z ?

(1) Nephew (2) Uncle

{3} Son

(4) Brother - in - law

(5) None of these
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134. Which of the following means P
is the father of S ? :
(JPxQ<R*S
RIRxP<Q-5
BR+5>Q+P
4S+Q-~R%P
(8) Cannot be determined

135. Which of the following means D
istheaunt of C ?
(1D>B*xA%C
2)D+B-Cx A
3 D-B-AxC
4 D+BxAxC
(5) None of these
Directions (136 -140) : In each

of the questions below are given three .

statements followed by two conclusions
numbered I and II. You have to take
the given statements to be true even if
they seem to be at variance from
commonly known facts and then de-
cide which of the given conclusions
logically follows from the statements
disregarding commonly known facts.
Give answer (1) if only conclu-

sion [ follows.

Give answer (2) if only conclusion
11 follows.

Give answer (3) if either conclu-
sion I or conclusion II follows.

Give answer (4) if neither conclu-
sion [ nor conclusion 11 follows.

Give answer (3) if both conclusions
1 and II follow.
136. Statements:
Some casual are formal.
All formal are expensive.
All expensive are elegant.
Conclusions :
1. All formal are elegant.
II. Some casual are expensive.
Statements :
All roses are red.
Some red are colour.
All colour are paints.
Conclusions :
I. Some red are paints.
11. All red are roses.
Statements :
All towns are cities.
All cities are urban.
Some urban are rural.
Conclusions :
1. Some towns are rural.
II. All rural are towns.
Statements :
All medicines are tablets.
Some tablets are tonics.
Some tonics are bitter.
Conclusions :
I. Some tablets are bitter.

137.

138.

139.

II. No medicine is a tonic.

140. Statements:

All incomes are salaries.

Some salaries are perks.

Some perks are tangible.

Conclusions :

I. Some incomes are tangible.

I1. At least some perks are sala-

ries.

Directions (141 - 145) : The
following questions are based on five
words given below:

RAT ONE BUT AND SAW

(The new words formed after
performing the mentioned operations
mayor may not necessarily be
meaningful English words.)

141. If in each of the given words,
each alphabet is changed to the
next letter in the English alpha-
betical series, in how many
words thus formed have the con-
sonants changed to vowels?

(1) One {2) Two
(3) Three {4) Four
(5) Five ;

142. How many such pairs of letters
are there in the word highlight-
ed in bold, each of which has as
many letters between them in the
word {in both forward and back-
ward directions) as they have be-
tween them in the English alpha-
betical order?
(1) None

(3} Two,

(5) Four

if*the first alphabet of each of
the words is changed to the next
alphabet in the English alphabet-
ical series, how many meaning-
ful English words will be formed?

(2) One
{4) Three

143.

(1) One (2) Two
(3) Three (4) Four
(5) Five

144. If the given words are arranged
in the order as they would ap-
pear in the dictionary from left
to right, which of the following

would be fourth from the left ?

(1) RAT (2) ONE
(3) BUT (4) AND
(5) SAW

145. Ifin each of the given words, only
the consonants are changed to
the next letter in the English
alphabetical series and the vow-
els are retained, in how many
words thus formed will the vow-
els appear twice or more times?

(same or different vowels)

(1} None (2) One
(3) Two (4) Three
(5) Four

Directions (146 - 150) : Study
Lhe following information carefully and
answer the given questions.

Five friends P, @, R, Sand T trav-
elled separately to five different cities
namely Chennai, Kolkata, Delhi, Hy-
derabad and Mangalore by different
modes of transport, i.e. by bus, train,
aeroplane, car and hoat from Goa.

The person who travelled to Del-
hi did not travel by boat. R travelled Lo
Mangalore by car and S travelled by
boat. Q travelled to Kolkata by acroplane
and T travelled by train. Goa is not con-
nected by bus to Delhi and Chennai.
146. Stravelledto____by ____?

{1) Hyderabad, train
(2} Chennai, boat
(3) Chennai train
(4) Delhi, boat
{5) Delhi, train -
Who amongst the following trav-
elled to Delhi?
(LT
(8 s
5) @
Q : Kolkata in the same way as
S
{1} Hyderabad
(2) Chennai
(3) Mangalore (4) Delhi
(5} Cannot be determined
149. Which of the following combina-
tions of place and transport is
correct?
(1) Kolkata - Bus
(2) Delhi - Aeroplane
(3) Mangalore - Train
(4) Chennai - Boat

(5) Hyderahad - Car

150. Which of the following combina-
tions is true for P ? .
(1) Travelled to Kolkata by bus
{2) Travzlled to Delhi by train
(3) Travelled to Chennai by hoat
(4) Travelled to Hyderabad by

bus

(5) None of these

147.

(2) R
(4 P

148,
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MARKETING APTITUDE/COMPUTER KNOWLEDGE

161, e wa refers {o data
] teims that make it pos-
S for e mr]-.ttr or clectronic
v and retrieve duta.
P retvieval technology

[}I it techology

Pannput fechnn shogy

SO we

sLore

.u 1o 5(];\’
ot these

162, Uhe e reiers to any com
puter compoictl thay s reguired
to pertorm work,
11} buotsirap
{3he

] Nr‘nu of these

(2) kerned

SOUCE (3} sourae code

163. A computer system includes..... .
(1) hardware (2) software
(3) peripheral devices 2
(4) All of these
(5} None of these
164. A is a software program
~ used to view Weh pages,
{1) site (2} host
(3) link (4) browser
(5) None of these
.......... is the maximum amount
of data that -can be sicred on a
storage medium.
{1) Magnectic storage
{2} Optical storage

i66.

167.

168.

1€9.

170.

171.

172,

{3) Solid staie stocage

(4) Storagse capacity

(5) None of these

ThE woeow 18 10 for par

forming caiculwions and contins-

decision-making mechanisms.

(1} Central Processing it

(2) Memory Unit

{3) Arithmetic and Logic Unrit

{4) Cutput Unit

{5) None ol these

......... is a large and expen

sive compulter eapable of simul

taneously processing data lor

hundreds or thousands of users.

{1) handheld computer

(2) mainframe computer

(3) personal computer

(4) tablet computer

{5) None of these

Which of the t()ll()wm” 1% ot true

about computer files

{1} They are ('ulltz(‘tiun:—; ol daa
saved Lo a storage medium

(2) Every [ile has a lilename

{3) A lile extension is estabhshoed
by the user to indicate the
file's contents

(4) All files contain daia

(5) Nonec of these

.......... allows voice conversa

tions to travel over the Internet.

(1) Internct telephony

(2) Instant messaging,

(3) - marl (4} E-commerce

(5} None of these

siorimilib

You use a(n) ........ such as o key
board or mouse, to input inios
mation,

(1) storage device

(2) processing device

(3) input device

(4) outpul device

{8) None of these

Which of the following is nat trie

concerning user IDs and pass

words ?

{1) When you enter Your user 13
and password, the compute:
knows it is you

(2) M your compuler aske
user D and passwoich
can create your own

(3) Sometimes you are assigne:d
a user 1D and passwaoid (o
security reasons

(4} You shouid share vour nsen
ID and passwerd with ai loas
one other person

(5} None of these

One who designs. wriles,

and maintans computer pro

gramns is called a

(1) User

fon &
VO

tosts

{21 Progrimmer
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173.

174.

175,

176.

(3} Designer {4) Operator

(5) Norte of these

[tems such as names and ad-

dresses are considered

(1) information (2] input

(3} records (4) data

(5) None of these

Sending an E-mail is similar io

(1) writing a letter

(2) drawing a picture

(3) talking on the phone

(4) sending a package

(5) None of these

Which of the following can only

have sequential access ?

(1) Disk (2) Tape

(3)CD-ROM (4} DVD-ROM

(5} None of these

Secondary storage

(1) does not require constant
power

(2) does not use magnetic media

" (3) consists of four main types of

177.

178.

179.

180.

181,

182.

devices

{4) does not store information for
later retrieval

(5) None ol these

What is a modem connected o ?

(1) processor  {2) motherboard

(3} printer (4} phone line

(5) None of these

Which is the smallest of the [ol-

lowing computers ?

(1) Notebook {2) Laptop

(3) Desktop {4} Workstation

(5) None of these

Computers connected to a LAN

can

{1) run faster (2] go on line

(3) share information and/or
share peripheral equipment

(4) E-mail

(5) None of these

This component is required to

process dala into information and

consists of integrated circuits

(1) Hard disk  [2) RAM

(3) CPU (4) ROM

(5] None of these

Direct Marketing mecans

(1) Advertisements

(2) Banners

(3) Face-to-face selling

(4) Selling by all staff

(5) Achieving targets

Web marketing involves

(1) Selling web cameras

(2) Web advertjsements

(3) e-mail chatting

(4) Browsing the wech

(5) Door-to-door canvassing

i 183.

184.

185.

186.

187.

188.

189.

190.

191.

The nitimate aim of Marketing is |

to provide i

{1) More business Lo the Cora- !
pany C

{2) More profit i

{3) More staff

{4) More production

{5) More products

Selling process includes

{1) Publicity

(2) Lead generalion

{3) Cross-country contacls

(4) Pioduct Designing

{5) Product Re-designing

Market share means

(1) Paid up capital

(2) Shares held by employces

(3) Share of business volume as
compared to cther companies

(4} Share price of the company
quoted ir! the market

(3) Sensex

Market shiare can be increased

by

(1} increasing the number of sales
[Ersons

(2} increasing Lhe sales volume

(3) increasing the products

(4) increasing preduction

(B) rewriting profits

Market segmentation means____

(1) segmentaltion of sales teams

(2) allocation of territory

(3) sales arrangement

(4) segmentation of target group
according to their needs

(5) market share

Target group of education loans

is -

(1) all school students

(2) all college students

(3) all colleges {4} all schools

(5) all hospitals

Referrel means -

(1) sales person

(2) all customers

(3) lead provided by operation
staff

(4) calling the existing purchas-
ers

{5) ali purchasers

“USP" in marketing means -

(1) Unique Selling Practices

{2) Uniform Selling Practices

(3) United Sales Persons

(4) Unique Selling Proposition

(5) Useful Sales Person

The meaning of ‘conversion’ in

terms of sales is —

(1) designing new products

(2) converting purchaser into sell-
ers

(3) converting sellers into pur-
chasers

1192,

193.

194.

195,

196

188.

199,

200.

(4) converting perspuctive
tomers into purchasers

(5 conversion ol religion

Online Marketing is mo-tly

ful lor rnavketing of

{1) saving acconne

(2) credit cards

(3) home loans

(4} NRI deposits

(5} business acconnts

Cross selling means -

(1) city Lo cily sales

{2) sclling with cross tace

(3) selling with crossed {inger

{4) selling products 1o existing
customers

(55 cold calling

Marketing strategy meins -

{1} ideas for new employment

(2} old techniques of selling

(3) techniques tor improving mar-
keting activitics

(4) techniques for increasing pro-
duction

{5} networking

Targel group means -

(1) all purchasers

(2] all sales persons

{3) targeeted purchasers

(4) alf consumers

(5) delivery persons

What is the USP of saving ac

counts ?.

{1) High rate of interest

{2) Easy operation

(:3) Risky transactions

{4) Expensive transactions

{5) Back office facility

. Which one ol ithe lollowing is not

a target group for saving ac-

counts? '

(1) salaried persons

(2} loss making comparics

(3) doctors

(4} govermment emplovees

(5) insurance agents

Target group for home loans is-

(1) existing creditors

{2) perscns having no house ol
Lheir own

{(3) persons having one or more
than one house

{-#) builders (5] NRls

Digitial Marketing is similar to -

(1) online marketing

{2) cold calling

(3) web designing

(4) market fore-cast

(&) outdoor marketing

Full form of DSAis__ __

(1) Delivery Stafl Agency

(2) Direct Selling Agent

(3} Direct Supplicr Agent

(4) Distribution & Supply Agrney

(D) Driving Sales Ahead
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